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Question No : 1 CORRECT TEXT

if the user in non-compliant state and want to Get out of quarantine ?

Answer: download posture

Question No : 2

You have configured a Cisco ISE 1.2 deployment for self-registration of guest users. What
two options can you select from to determine when the account duration timer begins?
(Choose two.)

A. CreateTime
B. FirstLogin
C. BeginLogin
D. StartTime

Answer: A,B

Question No : 3

Which error in a redirect ACL can cause the redirection of an endpoint to the provisioning
portal to fail?

A. The redirect ACL is blocking access to ports 80 and 443.

B. The redirect ACL is applied to an incorrect SVI.

C. The redirect ACL is blocking access to the client provisioning portal.
D. The redirect ACL is blocking access to Cisco ISE port 8905.

Answer: A

Question No : 4

Why does Cisco recommend assigning dynamic classification security group tag
assignment at the access layer?
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A. Static security group assignments are more scalable.

B. Security group assignment occurs as users enter the network.
C. To use SXP to transport STG to IP mappings.

D. Security group assignment occurs as users leave the network.

Answer: B

Question No : 5

Which two components are required to connect to a WLAN network that is secured by
EAP-TLS authentication? (Choose two.)

A. Kerberos authentication server
B. AAA/RADIUS server

C. PSKs

D. CA server

Answer: B,D

Question No : 6

Security Group Access requires which three syslog messages to be sent to Cisco ISE?
(Choose three.)

A.10S-7-PROXY_DROP

B. AP-1-AUTH_PROXY_DOS_ATTACK
C. MKA-2-MACDROP

D. AUTHMGR-5-MACMOVE

E. ASA-6-CONNECT_BUILT

F. AP-1-AUTH_PROXY_FALLBACK_REQ

Answer: B,D,F

Question No : 7

Which advanced authentication setting is needed to allow an unknown device to utilize
Central WebAuth?
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A. If Authentication failed > Continue
B. If Authentication failed > Drop

C. If user not found > Continue

D. If user not found > Reject

Answer: C

Question No : 8

Refer to the exhibit.

devicelconfig) #aaa newv-model

device iconfig) #tacacs-server host 209, 1e5. 200. 226
devicelconfig) #tacacs—-server host 209, 15,200,227
device (config) #tacacs-server key 0 §55E#5%111

Which three statements about the given configuration are true? (Choose three.)

A. TACACS+ authentication configuration is complete.
B. TACACS+ authentication configuration is incomplete.
C. TACACSH+ server hosts are configured correctly.

D. TACACS+ server hosts are misconfigured.

E. The TACACS+ server key is encrypted.

F. The TACACS+ server key is unencrypted.

Answer: B,C,F

Question No : 9

How many days does Cisco ISE wait before it purges a session from the active session list
if no RADIUS Accounting STOP message is received?
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Answer: B

Question No : 10

Which two statements about MAB are true? (Choose two.)

A. It requires a preexisting database of the MAC addresses of permitted devices.
B. It is unable to control network access at the edge.

C. If MAB fails, the device is unable to fall back to another authentication method.
D. It is unable to link the IP and MAC addresses of a device.

E. It is unable to authenticate individual users.

Answer: AE



